
/\
662    5

465  - 198  = __

200-198= 2
/\

265  200

Number Bond
667  + 295  = __

662+300= 962 265+2= 267

Arrow way750 - 121  = __
750          650         630         629

-100 -20 -1

750 + 121  = __
750          850         870         871

+100 +20 +1

Tape Diagram

+2
+2

329 - 198  = __
329
198

=331
=200

331- 200  = 131

Place value chart

Hundreds  Tens  Ones
672 + 149  = __

 8       2        1

Vertical Form
342+168= __

342
+168_____

510

1 1
342-168= __

342
+168_____

174

2 3

\
12

\

What 

strategy 
will you 

use to 

solve?
295+5= 300


